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Note: 1. Attempt any 4 Questions.

Que.1

(A) Give rules of determinants. (7.5)

(B) Verify () (AU B)Y = A'n B’ (ii)(AnB) = A'"UB' forsets U={a,b,c,d,ef,g}, (10)
A={b,c,d}, B={a,c,f}

Que.2
(A) Explain the following sets (7.5)
(i) Finite set (ii) Power set (iii) Singleton set (iv) Empty set (v) Compiement of a set
(B} Using cramer’s law solve the following equations. (10)
3x+y—-11=0,2x+5y—-16=0 |
Que.3
(A) Give the difference between matrix and determinant. . (7.5)
(B) Find inverse of the following matrix - (10)
1 2 3
A=|-1 5 4]
3 6 1
Que .4
(A} Define the following matrices. (7.5)

(i) Column matrix (ii) Unit matrix (iii) Diagonal matrix (iv) Transpose of a matrix
(B) For matrices A = B _51] and B = [g _42.] find A2, B, AB, BA and AT + BT (10)

Que.5
(A) A person deposits Rs. 10000 in the beginning of every month in recurring account (7.5)

at the rate of 12% p.a. What amount he would get after 10 years ?
(B) Raj Dave has deposited Rs. 200000 in a bank compound interest rate of 9% per (10)
year. Find the amount in his account after 15 year.

Que.6
-(A) Explain simple interest and compound interest, also give formula to calculate (7.5)

~ simple interest and compound interest.
(B) Sahil purchases bike on installment and pays Rs. 50,000 cash and pays the balance (10)
payment in 5 equal installments of Rs. 40,000 payable at the end of year. If the rate
of interest is 10% compounded annually. Find the cash price of the bike.
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Que.7

(A) By using Newton's method interpolate premium at the age of 34 years from the (7.5)
following data.

Age in years 25 130 35 140 (45
Premium(inRs.) {23 |26 30 |35 |42
(B} Interpolate y for x = 6 for the following data by using Langranges method. (10)
X 3 7 S 12
y 115 [30 [35 |40

Que.8

(A) What is interpolation and extrapolation ? Give assumptions of interpolation and (7.5)
~ extrapolation. ‘

(B) Find the missing value in the following table by using binomial expansion method. (10)

X

5

10

15

20

25

Uy

148

157

?

181

202

2]

\ . '
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Note: 1. Attempt any 4 Questions.

Que.t
(A) Creaset Gl veoul. (7.5)
(B} 2L U={a,b,c,d,e,f,gl, A={b,c,d}, B={a,c,f} Sl dl ALt 2 3 (10)
() (AUBY =A'nB' (i(ANB) =AUB S
Que.2
(A) slllett a1t AHevLel (7.5)
(i) =uect oot (i) Gu L (i) 2usidl ot - (iv) vuel 2Lst (v) LLQS oL
(B) <llolatl 2vlsaellell B3l Faell A wudl. (10)
3x+y—11=0,2x+5y—-16=0
Que.3
(A) AR5 2t Fraelus cedell dgldd veuel, (7.5)
(B) it ARLsoll cutpct ARLs 2lell. (10)
1 2 3
_ [ml : 4]
3 6 1
Que.4
(A) et ARLsA cauval Byl (7.5)

(i) eciet A (i) 2L As (iii) Cusel ARus (iv) WRad AlLs
(R) SR8 A = B - } sl B=]> | wbA2 B2 AB.BA v AT BT el (10)

o -2l

Que.5

(A) 215 culdct g2 HRausll gt Aol Aot vl Rs. 10000 12 esiell R vHL R &, (7.5)
dl 10 @l udl At Becll 28 Ha ¢

(B) v el 9 el ait s culvell €2 Rs. 200000 QSHL Hiet &, ol ol ols wiLaHl 15 (10)
arl uedl ecll s v 22l 7

Que.6

(A) UE sy it s fel culsy 2erevial dell Alg <l ey eLScL[‘EtL culy gliecllell el 2udL(7.5)

(B) et gt uefiell s ouss wdld &, »id Rs.50000 ccallis Assi(down payment) (10)
218 Sl oudedl 251 Rs. 40000 ot 215 2l 5 22vit <uBs gl 4sd &, v ulils
-euscg@u cutevell €2 10 28t Wl ol oudssll Asg Grct (Cash price) 20l
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Que.7
(A) llasll ASdl uell syeasil AQ 34 arlell Gud Wlume] sisial sal.
GrR (evlui) 25 |30 |35 |40 |45

JlHla {in Rs.) 23 |26 30 |35 42

(B) cloueevell Actetl Guulol 88 x=6 e y ol (Bicte] diaulet 52U

x (2 |7 19 |12
y |15 |30 [35 |40

Que.8

(A) zicdaia wal ofddaid 2led 9f ¢ wadela a1d of@dslaten Guulall evioucl.

(B) Budl (deczelsll Ad Al MUl He viecdl Bcs] Bispitat s

x |5 |10 [15 [20 |25
u, | 148|157 ? 1181202

47

(7.5)

(10)

(7.5)
(10)




